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warm-vp Homework key was online.

l;ags’:vr : Ask questions now.
Q*+37
W-125

Warm-up key coming up on slide after homework

Oct 6-7:25 PM

63. IncomePlans. Curt canbe paid in one of two ways for the furniture he sells:
Plan A: A salary of $900 per month, plusa commission of 10% of sales;
PlanB: A salary of $1200 per month, plus a commission of 15% of sales in excess of $8000

M‘WV\ 'S
if we canassyyne that Curt's sales )
' wh
SaJGSO]CW SI&%OOM Hen
IS

For what amount of monthly sales is plan B better than pl
are always more than $8000?

PlanA: y=9a00+. Ix
Plar®: Y= 1200+ I5(X-$000)
1200+.15X - 200X 2 400+ 1X
0OX 2400
@ 18000

>

Sep 20-2:52 PM
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Solve for x. Show all work as demonstrated in class. Include number line graphs when required.
)((fo ( B _x+4 1 X0, )d\k\—? "‘9 X+ 0,72
L (@ex ™ x ex C Civarwhiave
5 = (eI Y+ + | Xrax = 1+ 1)
5= X=5X+5 XX = | +X7+xX—2
X?+5X=0 X=-!
X(5+5)=0 5% -3
=0 X=-3
J
(:(666("
Sep 20-2:53 PM
3, (x—3)7;6230—2x>a 4 Bxid-freiiot
X2-0X+q = 30-2X (R Az )’
XtYx—21=0 3X+4=2><+I+24£XH +I
(x—7)(x+3)=o {7} (\( +2>*’=(2T_“2x+:)
=7 %=-3 XPHIXHG = 4 (2XH)
vV 3-3-B0H -3-3=[30+% Y= 4x =0
- b= 0,4
q’-};‘F _k;o#_-gb X(XE) "Di? A Z/ }
ou;z(J-ou-l 2= J3+ =
7-\=I 4-3l jll
] =
T \ =
% .__(@, B
>
g — 1_16—4’/
ot =
(1

Sep 20-2:53 PM
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B 9+2x«<7 or7-bx«-8
2)«—2} -5X¥<¢ -5
x4-1 X2 3

6. Bx+10<-4x-17<9-2x
Sx+l0L4x-17 And —4X=170-2x
X< -3 X >-13

(—_%NM-A«ZO—%
IX|-13¢X 2'3}
Ok (-13/3]

Sep 20-2:53 PM

7. —g(?:-:—z) >6

- 4X+H 218
~ 4> 14
X< -1

%bvj@l———>
IXIx <~ 13
Ol 1)

8. —1(5x—9)+45—2

3 (S HL)

Sep 20-2:53 PM
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9. 4|6-2x|+8<24

—+2X<Yy
I2X£ 10
X£€ 5

b-2X< Y
-IX€-2
X2 |

10. |2x+5|-625

|2x+5]|2 |
245> | |-2x=5=2]
9x2 -4 -I2X2 (o
Y22 K£-3

-3 2
Ix|%g-30r x2-2§
Coo3 U (-2

Sep 20-2:54 PM

11. ) 12. 7‘% ~9<12 \A&e_,
NS ob
(2,00) 5% . 7|54 2] 12—
or 7‘\9'030 l‘(B
Ixxe R} >
_ | %<3 ' -3<3
B R ARt x<9 x>-9
-2 —Y L'(K:— _;2 W
—e j‘-‘('_ = -
< | Tx-acx<aj
OR' <_q)q>
o U {1z o0 T
| | Z gt 7T
) &0 4

Sep 20-2:54 PM
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warm-Up Answers:  #eepChange Plvs.
3= | = (X-D(X™ x+/)
Q=X

b= 3 L L
@ &3”27-‘ (x+3)b- 6x+9) b (DG bt
0=

@b(:‘?P-Il‘i - (4x-5)(wxz+zox+25)

Q’s—-b>—-\ (a b5 4« 6-)-6‘)

b=5
Oct 21-7:23 AM
On Test: > i
V| +/- X = Complex Numbers =¢ 1+¢
| Factor a cube 7(/,’7%\
M Parabola: Find Vertex, AOS, Max or Min, Inc/Dec, Range
|Z|’ Solve a Quadratic: Using Formula, Completing the Square
|Z|’ Solve Rational Equations (x # ?, LCD)
A (}“—‘t—
M Solve a Radical Equation ‘Sb/a%
| Solve an Absolute Value Ineiualit
&Z_f/ l,e(/t*/-f/\’\
\Z/.]W./w(rl—f% e S
—T"

Oct 19-1:06 PM
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Practice on any paper.

Solve. /X -3 +5=X

Oct 23-2:42 PM

Solve. \\X—-3+5=Xx

- < 3
e (T +S= 9
X ¥ 28 = [ +~5 =
(X -4)(e-1=D e F4
V=-3 S = 7/
=7

Oct 23-2:42 PM
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Test Keviow: Start ix cbass and f/)(/(fé fo/o ﬁ!a/r(em&é /ffey ontlne
FPF 252 - 253 #18, #20, #27 - 29, #37 - 40,
#45:

#43 - 45/ #: 53/ #5¢ quadratic formula. Solve by factoring and
then quadratic formula.

/0 P 255: #35 #s 53 & 54, do not complete the square as
stated in txtbk. Find all parts from the given
function form. e) sketch & label vertex. Add
part f) State increasing & decreasing

7— frf 7— 73/%@? /P 0// intervals.

Oct 17-12:12 PM
Pg 252
18) {27/ 73 45673 43) 16,33
20) {0,3} wl cethS 44 LR
27 (x|xs> &r‘ > %} 45) {2/3,-4}
TP 53)a) (3/8,7/16) &) Sketch,
c) max ¢~ 2 /13 ot X= 8

29 <-6 =2
Y {x|x < \/5),"}#)

Pg 255 35) 15 ft by 30 ft

d) {yly =-7/16}

37) -18-26i
38) 11 | 54) a) (1,-2) dee: C3/8, o0)
b) x=1

39) 11-2n o c) mins =& &% K=/
40) 2-i d) {V|‘I>2}

©) Stetch_

) tnes C' oO)

J-& (.-90,

£) ime: C~0,%)

Oct 18-7:11 AM
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/(5 Lo\ @D g
'8 é{x—;g X-0 )
5(X-b) + AX+3 =0
30+2x+3=0  §a7
S gy
X= &7
20. 55T - [= 3% ck N304 -1~ Bf.
()] =y
Sy+| = 3x+293X +/
2’)(@6% 5347 =1 =136)
RIS DY B G
TR Y3is
-3: v
Yo %3 3*3

Oct 21-6:45 AM

A X+7<£2 or AX+325 {X})(_é_% or X2 1}

< ax2d
3¥£-5_g l X2 | ol Pursniy

R |bx=1]£2 P
o< s §x| 3<x<lz

T IR A VOO
X>-3 - l

X<| 3

Oct 21-7:05 AM
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7. |X:4 2 ‘5 IX|¥xé-bor x-1}

X+422 |-X-%2 s ;

22 | -¥2Y 2R
X4 +o

A1, (6420Y-4-30) = -2 ~[8L- $L b = ~[3-26C

g 2-3 B30 a+i-30-90 A0 BBl
C .30 13 1-9d 10

g (350)-(2-0) = I-4
. (0#20) 4 (-4-30)= 2-¢

Oct 21-7:07 AM

-
W3- 12k-b=0 —3
Y -4x+y =244 ?;iﬂf}
(¥-2)"=b
X-22 b
X=22Jo

Oct 21-7:11 AM
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0. 3XHI0X = %

(3x-2X(X+4)
22 y=-{

-3

pos: X= 5(_4

W )o¥-8=0
=0

53 {X)- 43X -

| Q

A

Oct 21-7:13 AM

g {(x)=5x* lox+3 a. (1,-2)

aos: X= 2__5 b. Y=
=1 3 mlmlm} =
= -2 e)igbg:;)\_ —[’-352: i, -9))
P42 (0-2%=30 e (60" ooy !
3 5 x(b012>0
X ASLE W +b0X
House NS i - 2)

X5

Oct 21-7:17 AM
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Oct 23-2:48 PM
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